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(Cost Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)

1x10=10
ot SEpIR woTe MRIERIRT 2/ 72bi9 Ted e 2
(@) Costing is a technique of __ cbst,

(Fill in the blank with appropriate word)

T T 251 (I TS GO} (e |
(T713@ 3 ATl 312 93¢ =)
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(b)

()

(d)

Cost accounting is based on figures.
(Fill in the blank with appropriate word)

Tesiive T3 2pleieel TR 8T WS
FE| (T77G *F7eq A7) 912 274 1)

Variable cost per unit remains constant.
(State whether the statement is true or
false)

ST U7 efSl (TS O A |

(CfEthr 1%y (o Sey ferll)

Wages paid to factory supervisor is
overhead.

(State whether the statement is true or
false)

(9)

(iii) HIFO (&%)
(iv) FILO (Rer)
(Select the correct answer)

(ifd Teweo! R Tleveay)

In which industry process costing is not
used ?

CPINCE! Srapitet eifeE < Reteieaet safs e
(g ?

(i) Chemical (IFFF)

(i) Textiles (IF)

(iii) Cement (5GF5)

(iv) Oil refinery ((9&1 CIEAINR)

DITAIS 2Afee AR 1 oAiffie 25 9 (Select the correct answer)
Toifee 57 | (Cfeor 1%y (o S7ey fe73l) (735 T&Ch! AR fereay)
() Re-ordering level = Minirnlll(’irl (h) An abnormal loss is
consumption x Minimu - eriod. sEreiE
(State thether the staiz;feziizrfme or it
alse) (i) due to the nature of process
ST S B = TS BTSN x o 474 P PR A
ot s 1 (Cfest ey (v ey f&730) (@) due to the abnormal factors
() Which methods of valuing materials is AR I M
suitable in terms of rising prices ? (iii) None of the above two
T e S (P! O AN ETE TS FAi! w2
9 22 (Select the correct answer)
() LIFO (Fi&) (T3 TEIB! 1R Biaq)
(i) FIFO (ﬁm—,’) 4 (Sem-4/CBCS) HC 1/RC (CAC)/G 3
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©)

0)

(k)

@

(m)

Costing provides all of the following
information, except ; !
(Fill in the blank from the following
options)

() product costs

(i) cash forecasts

(i) inventory value

(iv) cost of goods sold

T FROI#RAC o9 (IO SRR N A AN
O GI ?

() Tesime

(ij) & A

(i) G FAWJT o7

(iv) @7 3T

Define the term ‘costing’.

G 31 1ot ey sigeat |

What is idle time ?
SRS HaF e &2
What is meant by cost-

T RIS o0t et & 3y«

Write the meanin
Cost Accounting.

A TR RS o i el B

plus contract ?

g of imputed cost’ in

4 (Sem-4/CBCS) HC 1/RC (CAQ)/G - 4

(n) What is meant by Cost Ledger

(o)

2.

Accounting ?

A T ST Rpleeael T R @it 2

Identify the types of Specific Order
Costing :

R iio) 731 Rotoie ez e 1 ¢
(i) Batch costing
b1 5159 I fepivise
i) Job costing
I R
(iii) Process costing

effeat Rptereel
(iv) Both (i) and (i)
(1) = (i) GEAGH
(Select the correct answer)

(i3 Tesch! A1z Tfeveay)

Answer the following questions : (any Sive)

2x5=10

TS MANRIRT =191 Rz siiso1q Sed Bl o

(@)
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Write any two distinguishing features of
cost unit and cost centre.

TR (D 6 2031 (e T 757 911291 iy
GEI
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(b) What is economic order quantity ?

RIear i oifRmmet 52

(¢) State the meaning of overtime.

SR 73 i e

(d) State two features of indirect labour-
PR W31 767 9 Tre 74 |

(¢) State twoimportant features of contract
costing,

5501 <% Rvieta 757 2t ey o <1

(  Whatis meant by ‘minimum level’ in stock
contro] ?

?
Wﬁ%ﬁ?@‘iw‘iﬂﬁﬂ@%’wﬁiﬁ
(9) What is machine hour rate ?

S 51 2= o o

What is meant by absorptio
overheads ?

Goifo R vt i 2

(h)

n of

Answer any four of the following queStionsé
5x4=2
ST TR ST freeizat bR Tt i 2 5
(@ Write five differences between Final®
Accounting ang Cost Accounting:
IR Retemat o ey <y 1A
S =MO51 stiefey fvat

4 (Sep-
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(b) Write a short note on ABC analysis of

()
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inventory control.

TGS 21 g ABC R “afog 8sive ¢t
BACORR foralt |

Black and White manufacture and sell
‘Dirt Buster’. Following details are
available for the year ending on
31/03/2022 :

Black ®%: White @ ‘Dirt Buster’ ©eo{{ve
9% [P $69 1 31 W6 2022 SIfRT Ssi91 3379
5foRE [Keel wore fral 2 ¢

Direct Materials % 12,30,000
AT (FOIE

Direct Wages X 8,00,000
5T &3

Factory expenses at 25% of prime cost
I 96 325 TE 25%

Administrative expenses at 20% of
factory cost

RO A5 R IS 20%

Selling and distribution expenses at
< 300 per unit

R <% et <95 300 B4 & cotiss

Contd.,



Opening stock of finished goods

Interest rate 10% per annum

(100 units) at % 2,583,750 and closing ﬁﬁ'ﬂﬁiﬁ
stock of finished goods 80 units. Number - Lea/d time Half month
of Dirt Busters sold during the period | eI o S KR Y

1,220 unit at T 4,000 per unit.

e[ 3G Ay 100 (5w 2,53,750 Gl S
AR e Ay 80 (55| @ifSht (oIl 4,000
BRI 1,220 (N6 {ept 91 =3 |

Prepare Cost Statement showing cost of

Calculate EOQ and Total Inventory Cost
in respect of the particular material.

3+2=5
CR S GBI EOQ S1: I8 g 214y <
A1l <541 |

production per unit and profit. (e) How is .proﬁt of an i-ncomplete contract
ascertained ? Explain.
oS (IfbT Teslifrs =9 7 O oo (TR ST 6551 o191 ¥ (Reeitep 21l R =M1, et
G T [T 2E© 4 | 411
(d) Following information relating to a type (i Explain the needs for reconciliation of
of raw material is available : cost and financial accounts.
G TRCT EFR PO AR w2 were FFl SRA R Rt s {8 ot e
PG AT o) IR <41
Annual demand % 4,800 unit (99 Explain the concept of perpetual
3R oifzwl inventory system as a technique of
Uit L effective material control.
6%1 price 24.80 FETE] Tere <4 FHEes c«ﬁﬁaﬁsmﬁ‘ﬁmm
sy Al #/TST LIFeICH! DIt = |
Ordering cost per order % 8.00 (v . :
; Mention five special features of a good
o™ 3 &S Simme costing system.
Storage cost 2% per annum ﬁf\f’jﬁmfiﬂﬂaﬁ“f siwhed sfioo! Q% Sy
YA TR L 911
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ions : (<1157 1 I % 0 | OoTS 7zl O =/
4. Answer any four of the following questions - |

10x4=40 (©ET elfSias Teiie siom! 31 —
ot fil eIIRa fAgeieat bifeoIq ved ol 2 f) e SR T S
(@) What is cost accounting ? Explain the it S L N S
objectives of cost accounting. 3+7=10 |
Tes 77 RoleRd e (2 TeoAme T | Feifds 29 &fo T 90.00 5
fRpl=e STl T <51 | |

J7e I & (A0 60 (FPe
(b) Bishal is employed in a factory. From

' 9o ¢
the following information, calculate his

earning per day under — OoTq MA@ I AT K 09 80%
(i)  straight piece rate; and BT TN A 76T SN 120%
() Taylor’s differential piece rate

” elfSf 500 (oIfs T T = |
system. Normal rate per hou
% 90.00. Standard time per unit 60 (c) Briefly describe two remuneration plans
PSCOHs, together with their advantages and
Differentials : _
disadvantages. S5+5=10
80% of piece rate below standard
120% of piece rate above standard 0 AifSfii iRt R o SRR s
Production achieved : 500 units PE* | RfEPE 9 1|

day.
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(d) A product passes through two processes. (¢) What is material control ? Explain the
The details are as below : o | purchase procedure to be maintained
¢y Tesima 1ol CIERERICIEACIS | under material control system. 2+8=10
e goelr wero (7l 25 3 |

Processes | A fzge {6 2 A FEET AR O S wieq
ol | ST @ elfdEE i <
(0 () i (ff/ What is labour turnover ? What are
Units produced el " ‘ various causes of labour turnover ?
Teviife TS (oI Exolai i Briet Lok
Cost per unit (in ¥) 12 = b s 8t7=10
fth! (a5 53 (5=) S S T 62 @i st [fen e /s
Other materials (in ¥) 30,000 20,000 ' R » ST I <5 |
I ! T (5)
Labour (in ¥) 80,000 90,000 ‘ (g) Discuss various bases for apportionment
< (5) | of overheads to cost centres.
Overheads (in ¥) 40,000 30,000
| iR 3 (G | T (L CRe T ferem 3919 Rieq fefermg
| Normal loss (% in input) 8 10 A 1 |

e e (T <o)

Scrap value (X per unit) 10 15 (h) Whatis job costing ? What are the source

T8 (31 1 T (&l (oifFe o) documents used in job costing ? Explain

Actual output (in units) 8.700 7,800 ' 1 -

, ) the procedure of job costing.  3+7=10
2R BT (A ftore) | P clotl :
Prepare Process I and Process 1 P 31 Rptoa e P IR o1 5
accounts. Also ascertain cost per unit & JYofg 7T 9 2 PR T feptoeR
AR 1 w01 21 11 i 2 <l o AT aifEFa vt <=4 |

(NG 2031 el =sat
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(i)  What is abnormal loss ? State the causes Q) (&)
of abnormal loss. Also explain the Work : 70,000
procedure of calculating abnormal loss 'S expenses allocated tojobs
in process costing. 2+2+6=10 SR 1 SRR <R 50,000
e He [F2 G2 Fey FRETIZ Gz A | Administrative expenses ’
AR 08 RoteReeTs ShHISIRie % siom| w1 A[ R <5 . be | 138,000
@ 10t 1 | ﬁi:??mlsﬁaﬁve expenses allocated to JODS

() The following are the summary of Fin: k) g5 house 4,00,000
transactions obtained from the costing "ished goods transferred to Ware
records of Champa Company. | RALIA b B o

] : e above
oS Ml e AR 54 @F=E T You are required tOJ?umaflS:ct:ountjng
25151939 w141 =1 G [CwE transactions under inteer 1x10=10

5 System. W%@
R®) &) a7 EakGall
Direct wages (cash) 30,000 SIS s
SO & (7517) QI 2[R w4 |
Indirect wages (cash) 20.000 |
AT & (F4) |
Purchases (cash) |
40,000 |
7 () | T
Puchases (credit) f
2,00,000 f
& () |
Stores issued against production order 1,70,000
BT 74l SIS (! A Ry
Works expense
Xpenses (cash) 40,000
P! 43D (Foir)
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